HPE_CIEF10_X-Zapfen-Empfindlichkeit Yg,,=10(
ME10_x,dA)=B21Xk10_x SN +B22VF10_x,4N)
+BogZr1g_x N
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HPE_CIEF10_X-Zapfen-Empfindlichkeit Yg,,=10(
ME10_x,dA)=B21Xk10_x SN +B22VF10_x,4N)
+BogZr1g_x N

10 sz -0,4299 1,2038 0,0862A=540
P55:5M gy x {1)=86.68
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HPE_CIEF10_X-Zapfen-Empfindlichkeit Yg,,=10(
ME10_x,dA)=B21Xk10_x SN +B22VF10_x,4N)
+BogZr1g_x N

10 sz -0,4299 1,2038 0,0862A=540
P50:ZMMipyo x 4A)=85,49
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HPE_CIEF10_X-Zapfen-Empfindlichkeit Yg,,=10(
ME10_x,dA)=B21Xk10_x SN +B22VF10_x,4N)
+BogZr1g_x N

10 sz -0,4299 1,2038 0,0862A=540
P45:ZiMiEy x 4A)=84,03

7,9 XF].O_X,S:O'BBZG
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HPE_CIEF10_X-Zapfen-Empfindlichkeit Yg,,=10(
ME10_x,dA)=B21Xk10_x SN +B22VF10_x,4N)
+BogZr1g_x N

10 sz -0,4299 1,2038 0,0862A=540
P40:SMMEyo x dN)=82,21

7,9 xFlo_x,s:O,3831
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HPE_CIEF10_X-Zapfen-Empfindlichkeit Yg,,=10(
ME10_x,dA)=B21Xk10_x SN +B22VF10_x,4N)
+BogZr1g_x N

10 sz -0,4299 1,2038 0,0862A=540
P35:5MMEyg x 4A)=79,88
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HPE_CIEF10_X-Zapfen-Empfindlichkeit Yg,,=10(
ME10_x,dA)=B21Xk10_x SN +B22VF10_x,4N)
+BogZr1g_x N

10 sz -0,4299 1,2038 0,0862A=540
P30:ZMf gy x {N)=76,82

7,9 XF].O_X,S:O'4413

Yr10_x,50,4052
50 -~~~ """ ~"~"~"~"~"~"~-=------
2,9

0,0

400 500 600
WellenlangeA /nm

BG470-5A 1



HPE_CIEF10_X-Zapfen-Empfindlichkeit Yg,,=10(
ME10_x,dA)=B21Xk10_x SN +B22VF10_x,4N)
+BogZr1g_x N

10 sz -0,4299 1,2038 0,0862A=540
P25:3MMp1q x dN)=72,61
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